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CE:CIVIL ENGINEERING 
 
Duration: Τηρεε Ηουρσ        Maximum Marks:100 

 

Πλεασε ρεαδ τηε φολλοωινγ ινστρυχτιονσ χαρεφυλλψ: 

 

General Instructions: 

 

1. Τοταλ δυρατιον οφ εξαmινατιον ισ 180 mινυτεσ (3 ηουρσ).  

 

2. Τηε χλοχκ ωιλλ βε σετ ατ τηε σερϖερ.  Τηε χουντδοων τιmερ ιν τηε τοπ ριγητ χορνερ οφ σχρεεν ωιλλ δισπλαψ 

τηε ρεmαινινγ τιmε αϖαιλαβλε φορ ψου το χοmπλετε τηε εξαmινατιον. Wηεν τηε τιmερ ρεαχηεσ ζερο, τηε 

εξαmινατιον ωιλλ ενδ βψ ιτσελφ. Ψου ωιλλ νοτ βε ρεθυιρεδ το ενδ ορ συβmιτ ψουρ εξαmινατιον.  

 

3. Τηε Θυεστιον Παλεττε δισπλαψεδ ον τηε ριγητ σιδε οφ σχρεεν ωιλλ σηοω τηε στατυσ οφ εαχη θυεστιον υσινγ 

ονε οφ τηε φολλοωινγ σψmβολσ:  

  

 
Ψου ηαϖε νοτ ϖισιτεδ τηε θυεστιον ψετ. 

 
Ψου ηαϖε νοτ ανσωερεδ τηε θυεστιον. 

 
Ψου ηαϖε ανσωερεδ τηε θυεστιον.  

 

Ψου ηαϖε ΝΟΤ ανσωερεδ τηε θυεστιον, βυτ ηαϖε mαρκεδ τηε 

θυεστιον φορ ρεϖιεω. 

 

Ψου ηαϖε ανσωερεδ τηε θυεστιον, βυτ mαρκεδ ιτ φορ ρεϖιεω.  

 

Τηε Μαρκεδ φορ Ρεϖιεω στατυσ φορ α θυεστιον σιmπλψ ινδιχατεσ τηατ ψου ωουλδ λικε το λοοκ ατ τηατ 

θυεστιον αγαιν. Ιφ α θυεστιον ισ ανσωερεδ ανδ  Μαρκεδ φορ Ρεϖιεω, ψουρ ανσωερ φορ τηατ θυεστιον 

ωιλλ βε χονσιδερεδ ιν τηε εϖαλυατιον. 

 

 

Navigating to a Question 

 

4. Το ανσωερ α θυεστιον, δο τηε φολλοωινγ: 

 

α. Χλιχκ ον τηε θυεστιον νυmβερ ιν τηε Θυεστιον Παλεττε το γο το τηατ θυεστιον διρεχτλψ.  

β. Σελεχτ αν ανσωερ φορ α mυλτιπλε χηοιχε τψπε θυεστιον. Υσε τηε ϖιρτυαλ νυmεριχ κεψπαδ το εντερ 

α νυmβερ ασ ανσωερ φορ α νυmεριχαλ τψπε θυεστιον.  

χ. Χλιχκ ον Save and Next το σαϖε ψουρ ανσωερ φορ τηε χυρρεντ θυεστιον ανδ τηεν γο το τηε νεξτ 

θυεστιον.  

δ. Χλιχκ ον Mark for Review and Next το σαϖε ψουρ ανσωερ φορ τηε  χυρρεντ θυεστιον, mαρκ ιτ 

φορ ρεϖιεω, ανδ τηεν γο το τηε νεξτ θυεστιον. 

e. Caution: Note that your answer for the current question will not be saved, if you 

navigate to another question directly by clicking on its question number.  

 

5. Ψου χαν ϖιεω αλλ τηε θυεστιονσ βψ χλιχκινγ ον τηε Question Paper βυττον. Νοτε τηατ τηε οπτιονσ φορ 

mυλτιπλε χηοιχε τψπε θυεστιονσ ωιλλ νοτ βε σηοων.  
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Answering a Question 

 

6. Προχεδυρε φορ ανσωερινγ α mυλτιπλε χηοιχε τψπε θυεστιον: 

α. Το σελεχτ ψουρ ανσωερ, χλιχκ ον τηε βυττον οφ ονε οφ  τηε οπτιονσ 

β. Το δεσελεχτ ψουρ χηοσεν ανσωερ, χλιχκ ον τηε βυττον οφ τηε χηοσεν οπτιον αγαιν ορ χλιχκ ον τηε 

Clear Response βυττον  

χ. Το χηανγε ψουρ χηοσεν ανσωερ, χλιχκ ον τηε βυττον οφ  ανοτηερ οπτιον 

δ. Το σαϖε ψουρ ανσωερ, ψου ΜΥΣΤ χλιχκ ον τηε Save and Next βυττον 

ε. Το mαρκ τηε θυεστιον φορ ρεϖιεω, χλιχκ ον τηε Mark for Review and Next βυττον. Ιφ αν 

ανσωερ ισ σελεχτεδ φορ α θυεστιον τηατ ισ Μαρκεδ φορ Ρεϖιεω, τηατ ανσωερ ωιλλ βε χονσιδερεδ 

ιν τηε εϖαλυατιον. 

 

7. Προχεδυρε φορ ανσωερινγ α νυmεριχαλ ανσωερ τψπε θυεστιον: 

α. Το εντερ α νυmβερ ασ ψουρ ανσωερ, υσε τηε ϖιρτυαλ νυmεριχαλ κεψπαδ 

β. Α φραχτιον (εγ.,−0.3 ορ −.3) χαν βε εντερεδ ασ αν ανσωερ ωιτη ορ ωιτηουτ �0� βεφορε τηε δεχιmαλ 

ποιντ 

χ. Το χλεαρ ψουρ ανσωερ, χλιχκ ον τηε Clear Response βυττον 

δ. Το σαϖε ψουρ ανσωερ, ψου ΜΥΣΤ χλιχκ ον τηε Save and Next βυττον 

ε. Το mαρκ τηε θυεστιον φορ ρεϖιεω, χλιχκ ον τηε Mark for Review and Next βυττον. Ιφ αν 

ανσωερ ισ εντερεδ φορ α θυεστιον τηατ ισ Μαρκεδ φορ Ρεϖιεω, τηατ ανσωερ ωιλλ βε χονσιδερεδ 

ιν τηε εϖαλυατιον. 

 

8. Το χηανγε ψουρ ανσωερ το α θυεστιον τηατ ηασ αλρεαδψ βεεν ανσωερεδ, φιρστ σελεχτ τηατ θυεστιον φορ 

ανσωερινγ ανδ τηεν φολλοω τηε προχεδυρε φορ ανσωερινγ τηατ τψπε οφ θυεστιον.  

 

9. Νοτε τηατ ΟΝΛΨ Θυεστιονσ φορ ωηιχη ανσωερσ  αρε σαϖεδ ορ mαρκεδ φορ ρεϖιεω αφτερ ανσωερινγ ωιλλ βε 

χονσιδερεδ φορ εϖαλυατιον. 
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Paper specific instructions: 

 

 

1. Τηερε αρε α τοταλ οφ 65 θυεστιονσ χαρρψινγ 100 mαρκσ. Θυεστιονσ αρε οφ mυλτιπλε χηοιχε τψπε ορ 

νυmεριχαλ ανσωερ τψπε. Α mυλτιπλε χηοιχε τψπε θυεστιον ωιλλ ηαϖε φουρ χηοιχεσ φορ τηε ανσωερ ωιτη 

ονλψ one χορρεχτ χηοιχε. Φορ νυmεριχαλ ανσωερ τψπε θυεστιονσ, τηε ανσωερ ισ α νυmβερ ανδ νο χηοιχεσ 

ωιλλ βε γιϖεν. A number as the answer should be entered υσινγ τηε ϖιρτυαλ κεψβοαρδ ον τηε mονιτορ. 
 

2. Θυεστιονσ Θ.1 � Θ.25 χαρρψ 1mαρκ εαχη. Θυεστιονσ Θ.26 � Θ.55 χαρρψ 2mαρκσ εαχη. Τηε 2mαρκσ 

θυεστιονσ ινχλυδε τωο παιρσ οφ χοmmον δατα θυεστιονσ ανδ τωο παιρσ οφ λινκεδ ανσωερ θυεστιονσ. Τηε 

ανσωερ το τηε σεχονδ θυεστιον οφ τηε λινκεδ ανσωερ θυεστιονσ δεπενδσ ον τηε ανσωερ το τηε φιρστ 

θυεστιον οφ τηε παιρ. Ιφ τηε φιρστ θυεστιον ιν τηε λινκεδ παιρ ισ ωρονγλψ ανσωερεδ ορ ισ νοτ αττεmπτεδ, 

τηεν τηε ανσωερ το τηε σεχονδ θυεστιον ιν τηε παιρ ωιλλ νοτ βε εϖαλυατεδ. 
 

3. Θυεστιονσ Θ.56 � Θ.65 βελονγ το Γενεραλ Απτιτυδε (ΓΑ) σεχτιον ανδ χαρρψ α τοταλ οφ 15 mαρκσ. 

Θυεστιονσ Θ.56 � Θ.60 χαρρψ 1mαρκ εαχη, ανδ θυεστιονσ Θ.61 � Θ.65 χαρρψ 2mαρκσ εαχη.   

 

4. Θυεστιονσ νοτ αττεmπτεδ ωιλλ ρεσυλτ ιν ζερο mαρκ. Wρονγ ανσωερσ φορ mυλτιπλε χηοιχε τψπε θυεστιονσ 

ωιλλ ρεσυλτ ιν NEGATIVE mαρκσ.  Φορ αλλ 1 mαρκ θυεστιονσ, Å mαρκ ωιλλ βε δεδυχτεδ φορ εαχη ωρονγ 

ανσωερ. Φορ αλλ 2 mαρκσ θυεστιονσ, ‰ mαρκ ωιλλ βε δεδυχτεδ φορ εαχη ωρονγ ανσωερ.  Ηοωεϖερ, ιν τηε 

χασε οφ τηε λινκεδ ανσωερ θυεστιον παιρ, τηερε ωιλλ βε νεγατιϖε mαρκσ ονλψ φορ ωρονγ ανσωερ το τηε 

φιρστ θυεστιον ανδ νο νεγατιϖε mαρκσ φορ ωρονγ ανσωερ το τηε σεχονδ θυεστιον. Τηερε ισ νο νεγατιϖε 

mαρκινγ φορ θυεστιονσ οφ νυmεριχαλ ανσωερ τψπε. 

 

5. Χαλχυλατορ ισ αλλοωεδ. Χηαρτσ, γραπη σηεετσ ορ ταβλεσ αρε NOT αλλοωεδ ιν τηε εξαmινατιον ηαλλ.  

 

6. Dο τηε ρουγη ωορκ ιν τηε Σχριββλε Παδ προϖιδεδ. 
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Q. 1 – Q. 25carries one mark each. 

Θ.1 Τηερε ισ νο ϖαλυε οφ ξ τηατ χαν σιmυλτανεουσλψ σατισφψ βοτη τηε γιϖεν εθυατιονσ.Τηερεφορε, φινδ τηε 

�λεαστ σθυαρεσ ερρορ� σολυτιον το τηε τωο εθυατιονσ, ι.ε., φινδ τηε ϖαλυε οφ ݔ τηατ mινιmιζεσ τηε συm οφ 

σθυαρεσ οφ τηε ερρορσ ιν τηε τωο εθυατιονσ. __________ 

ݔʹ  ൌ ͵ Ͷݔ ൌ ͳ 

 

Θ.2 Wηατ ισ τηε mινιmυm νυmβερ οφ mυλτιπλιχατιονσ ινϖολϖεδ ιν χοmπυτινγ τηε mατριξ προδυχτ ΠΘΡ? 

Ματριξܲ ηασ 4 ροωσ ανδ 2 χολυmνσ, mατριξ ܳηασ 2 ροωσ ανδ 4 χολυmνσ, ανδ mατριξܴηασ 4 ροωσ ανδ 

1 χολυmν. __________ 

 

   

   
 

Θ.3 Α 1−η ραινφαλλ οφ 10 χm mαγνιτυδε ατ α στατιον ηασ α ρετυρν περιοδ οφ 50 ψεαρσ.  Τηε προβαβιλιτψ τηατ 

α 1−η ραινφαλλ οφ mαγνιτυδε 10 χm ορ mορε ωιλλ οχχυρ ιν εαχη οφτωο συχχεσσιϖε ψεαρσ ισ: 

(Α) 0.04 (Β)       0.2 (Χ)0.02 (D) 0.0004 

 

Θ.4 Μαξιmυm ποσσιβλε ϖαλυε οφ Χοmπαχτινγ Φαχτορ φορ φρεση (γρεεν) χονχρετε ισ: 

(Α) 0.5 (Β) 1.0 (Χ)  1.5 (D)  2.0 

 

 

Θ.5 Ασ περ ΙΣ 800:2007, τηε χροσσ−σεχτιον ιν ωηιχη τηε εξτρεmε φιβερ χαν ρεαχη τηε ψιελδ στρεσσ, βυτ 

χαννοτ δεϖελοπ τηε πλαστιχ mοmεντ οφ ρεσιστανχε δυε το φαιλυρε βψ λοχαλ βυχκλινγ ισ χλασσιφιεδ ασ 

(Α) πλαστιχ σεχτιον (Β) χοmπαχτ σεχτιον 

(Χ) σεmι−χοmπαχτ σεχτιον (D) σλενδερ σεχτιον 

 

 

Θ.6 Τηε χρεεπ στραινσ αρε 

(Α) χαυσεδ δυε το δεαδ λοαδσ ονλψ 

(Β) χαυσεδ δυε το λιϖε λοαδσ ονλψ 

(Χ) χαυσεδ δυε το χψχλιχ λοαδσ ονλψ 

(D) ινδεπενδεντ οφ λοαδσ 

 

Θ.7 Ασ περ ΙΣ 456:2000 φορ Μ20 γραδε χονχρετε ανδ πλαιν βαρσιν τενσιον τηε δεσιγν βονδ στρεσσ ߬௕ௗ ൌ ͳǤʹ	ܽܲܯ.Φυρτηερ, ΙΣ 456:2000 περmιτσ τηισ δεσιγν βονδ στρεσσ ϖαλυε το βε ινχρεασεδ βψ ͸Ͳ Ψ 

φορ ΗΣD βαρσ. Τηε στρεσσ ιν τηεΗΣDρεινφορχινγ στεελ βαρσιν τενσιον,ߪ௦ ൌ ͵͸Ͳܽܲܯ.  Φινδ τηε 

ρεθυιρεδ δεϖελοπmεντ λενγτη,ܮௗ, φορ ΗΣD βαρσιν τερmσ οφ τηε βαρ διαmετερ, ߶.   __________ 

 

Θ.8 Τηε �πλανε σεχτιον ρεmαινσ πλανε� ασσυmπτιον ιν βενδινγ τηεορψ ιmπλιεσ: 

(Α) στραιν προφιλε ισ λινεαρ 

(Β) στρεσσ προφιλε ισ λινεαρ 

(Χ) βοτη στραιν ανδ στρεσσ προφιλεσ αρε λινεαρ 

(D)σηεαρ δεφορmατιονσ αρε νεγλεχτεδ 
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Θ.9 Τωο στεελ χολυmνσ Π (λενγτη ܮ ανδ ψιελδ στρενγτη ௬݂ ൌ ʹͷͲ  ανδ ψιελδ ܮʹ ανδ Θ (λενγτη (ܽܲܯ

στρενγτη ௬݂ ൌ ͷͲͲ	ܽܲܯ) ηαϖε τηε σαmε χροσσ−σεχτιονσ ανδ ενδ−χονδιτιονσ. Τηε ρατιο οφ βυχκλινγ 

λοαδ οφ χολυmν Π το τηατ οφ χολυmν Θ ισ: 

(Α) 0.5 (Β) 1.0 (Χ)  2.0 (D)  4.0 

 

 

Θ.10 Τηε πιν−ϕοιντεδ 2−D τρυσσ ισ λοαδεδ ωιτη α ηοριζονταλ φορχε οφ ͳͷ ݇ܰ ατ ϕοιντ Σ ανδ ανοτηερ ͳͷ ݇ܰ 

ϖερτιχαλ φορχε ατ ϕοιντ Υ, ασ σηοων.Φινδ τηε φορχε ιν mεmβερ ΡΣ (ιν ݇ܰ) ανδ ρεπορτ ψουρ ανσωερ 

τακινγ τενσιον ασ ποσιτιϖε ανδ χοmπρεσσιον ασ νεγατιϖε. __________ 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Θ.11 Α σψmmετριχ Ι−σεχτιον (ωιτη ωιδτη οφ εαχη φλανγε ൌ ͷͲ ݉݉ǡ τηιχκνεσσ οφ εαχη φλανγε ൌ ͳͲ ݉݉, 

δεπτη οφ ωεβ = 100 mm, ανδ τηιχκνεσσ οφ ωεβ ൌ ͳͲ ݉݉) οφ στεελ ισ συβϕεχτεδ το α σηεαρ φορχε οφ ͳͲͲ	݇ܰ.  Φινδ τηε mαγνιτυδε οφ τηε σηεαρ στρεσσ(ιν ܰȀ݉݉ଶሻ ιν τηε ωεβ ατ ιτσ ϕυνχτιον ωιτη τηε τοπ 

φλανγε. __________ 

 

Θ.12 Ιν ιτσ νατυραλ χονδιτιον, α σοιλ σαmπλε ηασ α mασσ οφ ͳǤͻͺͲ ݇݃ ανδ α ϖολυmε οφͲǤͲͲͳ	݉ଷ. Αφτερ 

βεινγ χοmπλετελψ δριεδ ιν αν οϖεν, τηε mασσ οφ τηε σαmπλε ισ ͳǤͺͲͲ ݇݃.Σπεχιφιχ γραϖιτψ ܩισ ʹǤ͹. 

Υνιτ ωειγητ οφ ωατερ ισ ͳͲ	݇ܰȀ݉ଷ. Τηε δεγρεε οφ σατυρατιον οφ τηε σοιλ ισ: 

 

(Α) 0.65 (Β) 0.70 (Χ)  0.54 (D)  0.61 

 

 

Θ.13 Τηε ρατιο Νφ/Νδ ισ κνοων ασ σηαπε φαχτορ, ωηερε Νφ ισ τηε νυmβερ οφ φλοω λινεσ ανδ Νδ ισ τηε 

νυmβερ οφ εθυιποτεντιαλ δροπσ. Φλοω νετ ισ αλωαψσ δραων ωιτη α χονσταντ β/α ρατιο, ωηερε β ανδ α 

αρε διστανχεσ βετωεεν τωο χονσεχυτιϖε φλοω λινεσ ανδ εθυιποτεντιαλ λινεσ, ρεσπεχτιϖελψ.  Ασσυmινγ 

τηατ β/α ρατιο ρεmαινσ τηε σαmε, τηε σηαπε φαχτορ οφ αφλοω νετ ωιλλ χηανγε ιφ τηε 

 

(Α) υπστρεαm ανδ δοωνστρεαm ηεαδσ αρε ιντερχηανγεδ 

(Β) σοιλ ιν τηε φλοω σπαχε ισ χηανγεδ 

(Χ) διmενσιονσ οφ τηε φλοω σπαχε αρε χηανγεδ 

(D) ηεαδ διφφερενχε χαυσινγ τηε φλοω ισ χηανγεδ 

 

4 m 

Θ 

Ρ Σ 

Τ Υ ς 

W

15 ݇ܰ

4 m 4 m 4 m 

4 m 

15 ݇ܰ 
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Θ.14 Φολλοωινγ στατεmεντσαρε mαδε ον χοmπαχτεδ σοιλσ, ωηερειν DΣ στανδσ φορτηε σοιλσ χοmπαχτεδ ον 

δρψ σιδε οφ οπτιmυm mοιστυρε χοντεντ ανδ WΣ στανδσ φορ τηεσοιλσ χοmπαχτεδ ον ωετ σιδε οφ 

οπτιmυm mοιστυρε χοντεντ.  Ιδεντιφψ τηε incorrect στατεmεντ. 

(Α) Σοιλ στρυχτυρε ισ φλοχχυλατεδ ονDΣ ανδ δισπερσεδ ον WΣ. 

(Β) Χονστρυχτιον πορε ωατερ πρεσσυρε ισ λοω ον DΣ ανδ ηιγη ον WΣ. 

(Χ)Ον δρψινγ, σηρινκαγε ισ ηιγη ον DΣ ανδ λοω ον WΣ. 

(D)Ον αχχεσσ το ωατερ, σωελλινγ ισ ηιγη ον DΣ ανδ λοω ον WΣ. 

 

 

Θ.15 Φουρ χολυmνσ οφ α βυιλδινγ αρε το βε λοχατεδ ωιτηιν α πλοτ σιζε οφ 10 m ξ 10 m. Τηε εξπεχτεδ λοαδ 

ον εαχη χολυmν ισ 4000 κΝ. Αλλοωαβλε βεαρινγ χαπαχιτψ οφ τηε σοιλ δεποσιτ ισ 100 κΝ/m2. Τηε τψπε 

οφ φουνδατιον βεστ συιτεδ ισ 

(Α) ισολατεδ φοοτινγ (Β) ραφτ φουνδατιον 

(Χ) πιλε φουνδατιον (D)χοmβινεδ φοοτινγ 

 

 

Θ.16 Φορ συβχριτιχαλ φλοω ιν αν οπεν χηαννελ, τηε χοντρολ σεχτιον φορ γραδυαλλψ ϖαριεδ φλοω προφιλεσ ισ 

(Α) ατ τηε δοωνστρεαm ενδ (Β) ατ τηε υπστρεαm ενδ 

(Χ) ατ βοτη υπστρεαm ανδ δοωνστρεαm ενδσ (D) ατ ανψ ιντερmεδιατε σεχτιον 

 

 

Θ.17 Γρουπ−Ι χονταινσ διmενσιονλεσσ παραmετερσ ανδ Γρουπ− ΙΙ χονταινσ τηε ρατιοσ. 

 

Γρουπ−Ι                                  Γρουπ −ΙΙ 

Π. Μαχη Νυmβερ                    1. Ρατιο οφ ινερτιαλ φορχε ανδ γραϖιτατιοναλ φορχε 

Θ. Ρεψνολδσ Νυmβερ             2. Ρατιο οφ φλυιδ ϖελοχιτψ ανδ ϖελοχιτψ οφ σουνδ 

Ρ. Wεβερ Νυmβερ                  3. Ρατιο οφ ινερτιαλ φορχε ανδ ϖισχουσ φορχε 

Σ. Φρουδε Νυmβερ                 4. Ρατιο οφ ινερτιαλ φορχε ανδ συρφαχε τενσιον φορχε    

 

Τηε χορρεχτ mατχη οφ διmενσιονλεσσ παραmετερσ ιν Γρουπ− Ι ωιτη ρατιοσ ιν Γρουπ−ΙΙ ισ: 

    

(Α) Π−3, Θ−2, Ρ−4, Σ−1 (Β) Π−3, Θ−4, Ρ−2, Σ−1 

(Χ) Π−2, Θ−3, Ρ−4, Σ−1 (D) Π−1, Θ−3, Ρ−2, Σ−4 

 

 

 

Θ.18 
Φορ α τωο διmενσιοναλ φλοω φιελδ, τηε στρεαm φυνχτιον   ισ γιϖεν ασ  22

2

3
xy  .  Τηε 

mαγνιτυδε οφ δισχηαργε οχχυρρινγ βετωεεν τηε στρεαm λινεσ πασσινγ τηρουγη ποιντσ (0,3) ανδ (3,4) 

ισ: 

(Α)    6 (Β)    3 (Χ)    1.5 (D)    2 

 

 

 

 

Θ.19 Αν ισοηψετ ισ α λινε ϕοινινγ ποιντσ οφ 

(Α) εθυαλ τεmπερατυρε (Β)  εθυαλ ηυmιδιτψ 

(Χ)  εθυαλ ραινφαλλ δεπτη (D)  εθυαλ εϖαπορατιον 
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Θ.20 Σοmε οφ τηε ωατερ θυαλιτψ παραmετερσ αρε mεασυρεδ βψ τιτρατινγ α ωατερ σαmπλε ωιτη α τιτραντ. 

Γρουπ−Ι γιϖεσ α λιστ οφ παραmετερσ ανδ Γρουπ−ΙΙγιϖεσ τηε λιστ οφ τιτραντσ. 

 

                   Γρουπ−Ι                                                Γρουπ−ΙΙ 

 

             Π.Αλκαλινιτψ                                       1. Ν/35.5 ΑγΝΟ3 

             Θ. Ηαρδνεσσ                                       2. Ν/40    Να2Σ2Ο3 

             Ρ. Χηλοριδε                                        3. Ν/50    Η2ΣΟ4 

             Σ. Dισσολϖεδ οξψγεν                         4.  Ν/50    ΕDΤΑ 

 

Τηε χορρεχτ mατχη οφ ωατερ θυαλιτψ παραmετερσ ιν Γρουπ−Ι ωιτη τιτραντσ ιν Γρουπ−ΙΙ ισ: 

(Α) Π−1, Θ−2, Ρ−3, Σ−4 (Β)Π−3, Θ−4, Ρ−1, Σ−2 

(Χ)Π−2, Θ−1, Ρ−4, Σ−3 (D) Π−4, Θ−3, Ρ−2, Σ−1 

 

 

Θ.21 Α ωατερ τρεατmεντ πλαντ ισ δεσιγνεδ το τρεατ 1 m3/σ οφ ραω ωατερ. Ιτ ηασ 14 σανδ φιλτερσ. Συρφαχε αρεα 

οφ εαχη φιλτερ ισ 50 m2. Wηατ ισ τηε λοαδινγ ρατε (ιν 
௠యௗ௔௬ή ௠మ) ωιτη τωο φιλτερσ ουτ οφ σερϖιχε φορ ρουτινε 

βαχκωασηινγ? __________ 

 

Θ.22 Σελεχττηε στρενγτη παραmετερ οφ χονχρετε υσεδινδεσιγν οφ πλαιν ϕοιντεδ χεmεντ χονχρετε παϖεmεντσ 

φροm τηε φολλοωινγ χηοιχεσ: 

 

(Α) Τενσιλε στρενγτη  

(Β) Χοmπρεσσιϖε στρενγτη  

(Χ) Φλεξυραλ στρενγτη 

(D) Σηεαρ στρενγτη 

 

Θ.23 Ιτ ωασ οβσερϖεδ τηατ 150 ϖεηιχλεσ χροσσεδ α παρτιχυλαρ λοχατιον οφ α ηιγηωαψ ινα δυρατιον οφ 30 

mινυτεσ. Ασσυmινγ τηατ ϖεηιχλε αρριϖαλ φολλοωσ α νεγατιϖε εξπονεντιαλ διστριβυτιον, φινδ ουτ τηε 

νυmβερ οφ τιmε ηεαδωαψσ γρεατερ τηαν 5 σεχονδσ ιν τηε αβοϖε οβσερϖατιον? __________ 

 

 

Θ.24 Φορ τωο mαϕορ ροαδσ ωιτη διϖιδεδ χαρριαγεωαψ χροσσινγ ατ ριγητ ανγλε,α φυλλ χλοϖερ λεαφ ιντερχηανγε 

ωιτη φουρ ινδιρεχτ ραmπσ ισ προϖιδεδ. Φολλοωινγ στατεmεντσ αρε mαδε ον τυρνινγ mοϖεmεντσ οφ 

ϖεηιχλεστο αλλ διρεχτιονσ φροm βοτη ροαδσ. Ιδεντιφψ τηε correct στατεmεντ: 

 

(Α) Μεργινγ φροm λεφτ ισ ποσσιβλε,βυτδιϖεργινγ το λεφτ ισ νοτποσσιβλε. 

(Β) Βοτη mεργινγ φροm λεφτ ανδ διϖεργινγ το λεφτ αρεποσσιβλε. 

(Χ) Μεργινγ φροm λεφτ ισ νοτ ποσσιβλε,βυτδιϖεργινγ το λεφτ ισ ποσσιβλε. 

(D) Νειτηερmεργινγφροm λεφτ νορδιϖεργινγτο λεφτισποσσιβλε. 

 

    

 

Θ.25 Τηε λατιτυδε ανδ δεπαρτυρε οφ α λινε ΑΒ αρε +78 m ανδ −45.1 m, ρεσπεχτιϖελψ. Τηε ωηολε χιρχλε 

βεαρινγ οφ τηε λινε ΑΒ ισ: 

 

            (Α) 30°       (Β) 150°  (Χ) 210°  (D) 330°   
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Q. 26 to Q. 55 carry two marks each. 

Θ.26 Τηε στατε οφ 2D−στρεσσ ατ α ποιντ ισ γιϖεν βψ τηε φολλοωινγ mατριξ οφ στρεσσεσ: 

 ቂߪ௫௫ ௫௬ߪ௫௬ߪ ௬௬ቃߪ ൌ ቂͳͲͲ ͵Ͳ͵Ͳ ʹͲቃ  ܽܲܯ

 

Wηατ ισ τηε mαγνιτυδε οφ mαξιmυm σηεαρ στρεσσιν ΜΠα? 

 

(Α) 50 (Β) 75 (Χ) 100 (D) 110 
 

Θ.27 Φινδ τηε mαγνιτυδε οφ τηε ερρορ (χορρεχτ το τωο δεχιmαλ πλαχεσ) ιν τηε εστιmατιον οφ φολλοωινγ 

ιντεγραλ υσινγ Σιmπσον�σ 
3

1
 Ρυλε. Τακε τηε στεπ λενγτη ασ 1.  __________ 

 

  
4

0

4 10 dxx  

Θ.28 
Τηε σολυτιον φορ 

6

0

34 6σιν3χοσ



 d ισ: 

(Α)  0 (Β) 
15

1
 (Χ)  1 (D) 

3

8
 

 

 

Θ.29 Φινδ τηε ϖαλυε οφ そ συχη τηατ τηε φυνχτιον )(xf ισ α ϖαλιδ προβαβιλιτψ δενσιτψ φυνχτιον. __________ 

 

otherwise

xforxxxf

0

21)2)(1()(


 

 

    

Θ.30 Λαπλαχε εθυατιον φορ ωατερ φλοω ιν σοιλσ ισ γιϖεν βελοω. 

 

0
2

2

2

2

2

2













z

H

y

H

x

H
 

 

Ηεαδ H δοεσ νοτ ϖαρψ ιν y ανδ z διρεχτιονσ.  

Βουνδαρψ χονδιτιονσ αρε: ατ x = 0, H = 5;ανδ 1
dx

dH
.  

 

Wηατ ισ τηε ϖαλυε οφ H ατ x = 1.2? __________ 
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Θ.31 Αλλ mεmβερσ ιν τηε ριγιδ−ϕοιντεδ φραmε σηοων αρε πρισmατιχ ανδ ηαϖε τηε σαmε φλεξυραλ στιφφνεσσܫܧ.  

Φινδ τηε mαγνιτυδε οφ τηε βενδινγ mοmεντ ατ Θ (ιν ݇ܰ݉) δυε το τηε γιϖεν λοαδινγ. __________ 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Θ.32 Α υνιφορm βεαm ሺܫܧ ൌ  ܲ ሻܲܳ ιν τηε φορm οφ α θυαρτερ−χιρχλε οφ ραδιυσ ܴ ισ φιξεδ ατ ενδݐ݊ܽݐݏ݊݋ܿ

ανδ φρεε ατ τηε ενδ ܳ, ωηερε α λοαδ ܹ ισ αππλιεδ ασ σηοων.  Τηε ϖερτιχαλ δοωνωαρδ δισπλαχεmεντ, ߜ௤, ατ τηε λοαδεδ ποιντ ܳ ισ γιϖεν βψ: ߜ௤ ൌ ߚ ቀௐோయாூ ቁ.  Φινδ τηε ϖαλυε οφ ߚ(χορρεχτ το 4−δεχιmαλ 

πλαχεσ). __________ 

 

 

 

 

 

 

 

 

 

 

Π 

2 m 

100 kNm 

Ρ 

3 m 4 m 

2 m 

Θ 

Σ 

Τ 

Π 

Θ 

W 

Ρ 
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ΧΕ 

Θ.33 Α υ

(ιν 

ΧΦ 

  

 

Θ.34 Βεα

mο

βεα

ϕυστ

 

 

 

 

 

 

 

 

 

 

(Α
 

 

Θ.35 Α ρ

τεν

γιϖ

βεν

χαν

δεα

 

 

 

                           

υνιφορm βεαmܰሻ ιν σεγmε

το βε ωειγη

αm ܴܲܳܵηα

ϖινγ διστριβυ

αm.  Τηε mα

τ το τηε ριγητ 

Α) 30 

ρεχτανγυλαρ χ

σιλε ωιρεσ, ε

ϖεν σεχτιον.  

νδινγ mοmεν

ν ωιτηστανδ ω

αδ λοαδ οφ βε

5 m 

Π 

                           

m ωειγηινγ ͳ
εντ ΑΒ οφ τηι

τλεσσ. ______

ασ ιντερναλ ηι

υτεδ ϖερτιχαλ

αξιmυm αβσο

οφ συππορτ Θ

(Β

χονχρετε βεαm

εαχη οφ 7 mm

Ιφ τηε εφφεχ

ντ (ιν ݇ܰ݉) 

ωιτηουτ χαυσ

αm. _______

5 m 

Θ

                           ͳͺͲͲ	ܰ ισ συ

ισ χαβλε (χορρ

_____ 

ινγεσ ιν σπαν

λ λοαδ οφ mα

ολυτε ϖαλυε ο

Θ σηαλλ βε: 

Β) 40 

m ʹͷͲ	݉݉ ω

m διαmετερ,

τιϖε πρε−στρε

(χορρεχτ το 1

σινγ τενσιλε σ

____ 

Θ 

                           

υππορτεδ ατ Ε

ρεχτ το 1−δεχ

 

 

νσ ܲܳ ανδ ܴ
αξιmυm ιντε

οφ τηε σηεαρ φ

(

ωιδε ανδ ͸Ͳ
λοχατεδ ατʹ

εσσ ιν τηε ωι

1−δεχιmαλ πλα

στρεσσ ατ τηε 

20 m

                           

Ε ανδ Φ βψ χ

χιmαλ πλαχε). 

ܴܵ ασ σηοων

νσιτψ Ͷ ݇ܰΤ
φορχε (ιν ݇ܰ

Χ) 45 

Ͳ ݉݉ δεεπ ͲͲ ݉݉ φροm

ρεσ ισ͹ͲͲ	ܯ
αχε) δυε το λ

βοττοm φαχε 

                           

αβλε ΑΒΧD.

 Ασσυmε τηε

ν. Τηε βεαm݉Τ  οφ ανψ λε

) τηατ χαν οχ

(

ισ πρε−στρεσσε

m τηε βοττοmܽܲܯ, ωηατ ισ 

λιϖε λοαδτηατ 

οφ τηε βεαm

5 m

Ρ 

      ΧΙςΙΛ ΕΝΓ

  Dετερmινε 

ε χαβλεσ ΑΒΧ

 

mmαψ βε συβ

ενγτη ανψωη

χχυρ δυε το τ

(D) 55 

εδ βψ mεανσ

m φαχε οφ τη

τηε mαξιmυ

τηισ σεχτιονο

m? Νεγλεχτ τη

5 m m 

ΙΝΕΕΡΙΝΓ − ΧΕ

10/16

τηε τενσιον 

ΧD, ΒΕ ανδ 

βϕεχτεδ το α 

ηερε ον τηε 

τηισ λοαδινγ 

σ οφ 16 ηιγη 

ηε βεαmατ α 

υm σαγγινγ 

οφ τηε βεαm 

ηε εφφεχτ οφ 

Σ 

Ε 

6
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Θ.36 Τηε σοιλ προφιλε βελοω α λακε ωιτη ωατερ λεϖελ ατ ελεϖατιον ൌ Ͳ m ανδ λακε βοττοm ατ ελεϖατιον ൌ 	 െͳͲ	m ισ σηοων ιν τηε φιγυρε, ωηερε κ ισ τηε περmεαβιλιτψ χοεφφιχιεντ. Α πιεζοmετερ (στανδ πιπε) 

ινσταλλεδ ιν τηε σανδ λαψερ σηοωσ α ρεαδινγ οφ +10 m ελεϖατιον. Ασσυmε τηατ τηεπιεζοmετριχ ηεαδισ 

υνιφορm ιν τηε σανδ λαψερ. Τηε θυαντιτψ οφ ωατερ (ιν m3/σ) φλοωινγ ιντο τηε λακε φροm τηε σανδ λαψερ 

τηρουγη τηε σιλτ λαψερ περ υνιτ αρεα οφ τηε λακε βεδ ισ: 

 

 
 

 (Α) 1.5 ξ 10−6 (Β) 2.0 ξ 10−6 

(Χ) 1.0 ξ 10−6 (D) 0.5 ξ 10−6 

 

 

 

Θ.37 Τηε σοιλ προφιλε αβοϖε τηε ροχκ συρφαχε φορ α 25οινφινιτε σλοπε ισ σηοων ιν τηε φιγυρε, ωηερε σ
υ
 ισ τηε 

υνδραινεδ σηεαρ στρενγτη ανδ 
τ
 ισ τοταλ υνιτ ωειγητ. Τηε σλιπ ωιλλ οχχυρ ατ α δεπτη οφ 

 

 

(Α) 8.83 m (Β) 9.79 m (Χ)  7.83 m (D)  6.53 m 

 

Ροχκ

(υνδερ αρτεσιαν πρεσσυρε)

Σιλτ (κ = 10−6 m/σ)

Λακε

−40

−30

−10

0

+10

Στανδ πιπε

Λακε βοττοm

Σανδ
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Θ.38 Τωο διφφερεντ σοιλ τψπεσ (Σοιλ 1 ανδ Σοιλ 2) αρε υσεδ ασ βαχκφιλλ βεηινδ α ρεταινινγ ωαλλ ασ σηοων ιν 

τηε φιγυρε, ωηερε 
τ
 ισ τοταλ υνιτ ωειγητ, ανδ χ∋ ανδ ∋ αρε εφφεχτιϖε χοηεσιον ανδ εφφεχτιϖε ανγλε οφ 

σηεαρινγ ρεσιστανχε. Τηε ρεσυλταντ αχτιϖε εαρτη φορχεπερ υνιτ λενγτη (ιν κΝ/m) αχτινγ ον τηε ωαλλ ισ: 

 

 
 

(Α) 31.7  (Β) 35.2  (Χ)  51.8 (D)  57.0  

 

Θ.39 Α 2 κm λονγ πιπε οφ 0.2 m διαmετερ χοννεχτσ τωο ρεσερϖοιρσ.  Τηε διφφερενχε βετωεεν ωατερ λεϖελσ 

ιν τηε ρεσερϖοιρσ ισ 8 m.  Τηε Dαρχψ−Wεισβαχηφριχτιον φαχτορ οφ τηε πιπε ισ 0.04. Αχχουντινγ φορ 

φριχτιοναλ, εντρψ ανδ εξιτ λοσσεσ, τηε ϖελοχιτψ ιν τηε πιπε (ιν m/σ) ισ: 

(Α) 0.63 (Β)0.35 (Χ)  2.52 (D)  1.25 

 

Θ.40 Τηε νορmαλ δεπτη ιν α ωιδε ρεχτανγυλαρ χηαννελ ισ ινχρεασεδ βψ 10%. Τηε περχενταγε ινχρεασε ιν 

τηε δισχηαργε ιν τηε χηαννελ ισ: 

(Α)    20.1 (Β)  15.4 (Χ)    10.5 (D)  17.2 

 

 

 

Θ.41 Τηε τρανσπλαντατιον οφ ριχε ρεθυιρεσ 10 δαψσ ανδ τοταλ δεπτη οφ ωατερ ρεθυιρεδ δυρινγ τρανσπλαντατιον 

ισ 48 χm.  Dυρινγ τρανσπλαντατιον, τηερε ισ αν εφφεχτιϖε ραινφαλλ (υσεφυλ φορ ιρριγατιον) οφ 8 χm.  Τηε 

δυτψ οφ ιρριγατιον ωατερ (ιν ηεχταρεσ/χυmεχ) ισ: 

(Α) 612 (Β)   216 (Χ)300 (D) 108 

 

 

Θ.42 Α σεττλινγ τανκ ιν α ωατερ τρεατmεντ πλαντ ισ δεσιγνεδ φορ α συρφαχε οϖερφλοω ρατε οφ30 
௠యௗ௔௬ή ௠మ . 

Ασσυmεσπεχιφιχ γραϖιτψ οφ σεδιmεντπαρτιχλεσ = 2.65, δενσιτψ οφ ωατερ (と) = 1000 κγ/m3, δψναmιχ 

ϖισχοσιτψ οφ ωατερ (∝)=0.001 Ν.σ/m2,ανδ Stokes’ lawισϖαλιδ.Τηε αππροξιmατε mινιmυm σιζε οφ 

παρτιχλεσ τηατ ωουλδ βε χοmπλετελψ ρεmοϖεδ ισ: 

 

(Α) 0.01mm  (Β) 0.02 mm(Χ)  0.03 mm(D)  0.04 mm 

 

Θ.43 Α στυδεντ βεγαν εξπεριmεντ φορ δετερmινατιον οφ 5−δαψ, 20°Χ ΒΟD ον Μονδαψ. Σινχε τηε 5τηδαψ 

φελλ ον Σατυρδαψ, τηε φιναλ DΟ ρεαδινγσ ωερε τακεν ον νεξτ Μονδαψ. Ον χαλχυλατιον, ΒΟD (ι.ε. 7 

δαψ, 20°Χ) ωασ φουνδ το βε 150 mγ/Λ. Wηατ ωουλδ βε τηε5−δαψ, 20°Χ ΒΟD (ιν mγ/Λ)? Ασσυmε 

ϖαλυε οφ ΒΟD ρατε χονσταντ (κ) ατ στανδαρδ τεmπερατυρε οφ 20°Χ ασ 0.23/δαψ (βασε e). __________ 

 

2 m

2 m

Σοιλ 1: 

τ = 15 κΝ/m3; χ∋ = 0; ∋ = 30ο

Σοιλ 2: 

τ = 20 κΝ/m3; χ∋ = 0; ∋ = 40ο

Ρεταινινγ ωαλλ
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Θ.44 Ελεϖατιον ανδ τεmπερατυρε δατα φορ α πλαχε αρε ταβυλατεδ βελοω: 

 

Ελεϖατιον, m Τεmπερατυρε, °Χ 

4 21.25 

444 15.70 

 

Βασεδ ον τηε αβοϖε δατα, λαπσε ρατε χαν βε ρεφερρεδ ασ: 

(Α) Συπερ−αδιαβατιχ (Β) Νευτραλ (Χ) Συβ−αδιαβατιχ (D) Ινϖερσιον 

 

Θ.45 Τηε περχεντ ϖοιδσ ιν mινεραλ αγγρεγατε (ςΜΑ) ανδ περχεντ αιρ ϖοιδσ (ςϖ) ιν α χοmπαχτεδ 

χψλινδριχαλ βιτυmινουσ mιξ σπεχιmεν αρε 15 ανδ 4.5ρεσπεχτιϖελψ. Τηε περχεντ ϖοιδσ φιλλεδ ωιτη 

βιτυmεν (ςΦΒ) φορ τηισ σπεχιmεν ισ: 

 

(Α) 24                           (Β) 30                           (Χ)  54                       (D)  70 

 

Θ.46 Φολλοωινγ βεαρινγσ αρε οβσερϖεδ ωηιλε τραϖερσινγ ωιτη α χοmπασσ.  

 

Λινε             Φορε Βεαρινγ            Βαχκ Βεαρινγ 

ΑΒ                  126°45×                      308°00×  

ΒΧ                    49°15×                      227°30× 

ΧD                  340°30×                      161°45× 

DΕ                  258°30×                        78°30× 

ΕΑ                  212°30×                        31°45× 

 

Αφτερ αππλψινγ τηε χορρεχτιον δυε το λοχαλ αττραχτιον, τηε χορρεχτεδ φορε βεαρινγ οφ λινε ΒΧ ωιλλ βε: 

 

(Α) 48°15× (Β)50°15× (Χ)  49°45× (D)  48°45× 

 

Θ.47 Α τηεοδολιτε ισ σετ υπ ατ στατιον Α ανδ α 3 m λονγ σταφφ ισ ηελδ ϖερτιχαλλψ ατ στατιον Β. Τηε δεπρεσσιον 

ανγλε ρεαδινγ ατ 2.5 m mαρκινγ ον τηε σταφφισ 6°10×. Τηε ηοριζονταλ διστανχε βετωεεν Α ανδ Β ισ 

2200 m. Ηειγητ οφ ινστρυmεντ ατ στατιον Α ισ 1.1 m ανδ Ρ.Λ. οφ Α ισ 880.88 m.Αππλψ τηε χυρϖατυρε 

ανδ ρεφραχτιον χορρεχτιον, ανδ δετερmινε τηε Ρ.Λ. οφ Β (ιν m). __________ 

Common Data Questions 

Common Data for Questions 48 and 49: 

 

Α προππεδ χαντιλεϖερ mαδε οφ α πρισmατιχ στεελ βεαm ισ συβϕεχτεδ το α χονχεντρατεδ λοαδ Π ατ mιδ σπαν ασ 

σηοων. 

 

 

 

 

 

 

 

 

Θ.48 Ιφ λοαδ ܲ ൌ 	ͺͲ	݇ܰ,φινδ τηε ρεαχτιον ܴ(ιν ݇ܰ) (χορρεχτ το 1−δεχιmαλ πλαχε)υσινγ ελαστιχ αναλψσισ. 

__________ 

    

 

Θ.49 Ιφ τηε mαγνιτυδε οφ λοαδܲ ισ ινχρεασεδ τιλλ χολλαπσε ανδ τηε πλαστιχ mοmεντ χαρρψινγ χαπαχιτψ οφ στεελ 

βεαm σεχτιον ισ ͻͲ ݇ܰ݉, δετερmινε ρεαχτιον ܴ(ιν ݇ܰ)(χορρεχτ το 1−δεχιmαλ πλαχε) υσινγ πλαστιχ 

αναλψσισ. __________ 

 

Π

Ρ

1.5m 1.5m
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Common Data for Questions 50 and 51:  

 

Φορ α πορτιον οφ νατιοναλ ηιγηωαψ ωηερε α δεσχενδινγ γραδιεντ οφ 1 ιν 25 mεετσ ωιτη αν ασχενδινγ γραδιεντ 

οφ 1 ιν 20, α ϖαλλεψ χυρϖε νεεδσ το βε δεσιγνεδ φορ α ϖεηιχλε τραϖελλινγ ατ 90 κmπηβασεδ ον τηε φολλοωινγ 

χονδιτιονσ. 

 

(ι) ηεαδλιγητ σιγητ διστανχε εθυαλτο τηε στοππινγ σιγητ διστανχε (ΣΣD) οφ α λεϖελ τερραιν 

χονσιδερινγλενγτη οφ ϖαλλεψ χυρϖε> ΣΣD. 

(ιι) χοmφορτ χονδιτιον ωιτη αλλοωαβλερατε οφ χηανγε οφ χεντριφυγαλ αχχελερατιον = 0.5 m/σεχ3. 

 

Ασσυmε τοταλ ρεαχτιον τιmε = 2.5 σεχονδσ; χοεφφιχιεντ οφ λονγιτυδιναλ φριχτιον οφ τηε παϖεmεντ= 0.35; ηειγητ 

οφ ηεαδ λιγητ οφ τηε ϖεηιχλε =0.75 m; ανδβεαm ανγλε = 1°. 

 

Θ.50 Wηατ ισ τηε λενγτη οφ ϖαλλεψ χυρϖε (ιν m) βασεδ ον τηε ηεαδ λιγητ σιγητ διστανχε χονδιτιον? 

__________ 

 

Θ.51 Wηατ ισ τηε λενγτη οφ ϖαλλεψ χυρϖε (ιν m)βασεδ ον τηε χοmφορτ χονδιτιον? __________ 

 

Linked Answer Questions 

Statement for Linked Answer Questions 52 and 53:  

 

Α mυλτιστορψ βυιλδινγ ωιτη α βασεmεντ ισ το βε χονστρυχτεδ. Τηε τοπ 4 m χονσιστσ οφ λοοσε σιλτ, βελοω ωηιχη 

δενσε σανδ λαψερ ισ πρεσεντ υπ το α γρεατ δεπτη. Γρουνδ ωατερ ταβλε ισ ατ τηε συρφαχε. Τηε φουνδατιον χονσιστσ 

οφ τηε βασεmεντ σλαβ οφ 6 m ωιδτη ωηιχη ωιλλ ρεστ ον τηε τοπ οφ δενσε σανδ ασ σηοων ιν τηε φιγυρε. Φορ 

δενσε σανδ, σατυρατεδ υνιτ ωειγητ = 20κΝ/m3, ανδ βεαρινγ χαπαχιτψ φαχτορσ Νθ = 40 ανδ Ν = 45. Φορ λοοσε 

σιλτ, σατυρατεδ υνιτ ωειγητ = 18κΝ/m3, Νθ = 15 ανδ Ν = 20.Εφφεχτιϖε χοηεσιον χ∋ ισ ζερο φορ βοτη σοιλσ.Υνιτ 

ωειγητ οφ ωατερ ισ 10 κΝ/m3. Νεγλεχτ σηαπε φαχτορ ανδ δεπτη φαχτορ. 

 

Αϖεραγε ελαστιχ mοδυλυσ E ανδ Ποισσον�σ ρατιο  οφ δενσε σανδ ισ 60 ξ 103κΝ/m2 ανδ 0.3 ρεσπεχτιϖελψ.  

 

 

Θ.52 Υσινγ φαχτορ οφ σαφετψ = 3, τηε νετ σαφε βεαρινγ χαπαχιτψ (ιν κΝ/m2) οφ τηε φουνδατιον ισ: 

 

(Α) 610  (Β) 320 (Χ) 983 (D) 693 

 

Θ.53 Τηε φουνδατιον σλαβ ισ συβϕεχτεδ το ϖερτιχαλ δοωνωαρδ στρεσσεσ εθυαλ το νετ σαφε βεαρινγ χαπαχιτψ 

δεριϖεδ ιν τηε αβοϖε θυεστιον. Υσινγ ινφλυενχε φαχτορ Ι
φ
 = 2.0, ανδ νεγλεχτινγ εmβεδmεντ δεπτη ανδ 

ριγιδιτψ χορρεχτιονσ, τηε ιmmεδιατε σεττλεmεντ οφ τηε δενσε σανδ λαψερ ωιλλ βε:  

            (Α) 58 mm          (Β) 111 mm       (Χ) 126 mm     (D) 179 mm 

 

 

4 m
Βασεmεντ

Λοοσε σιλτ

Dενσε σανδ

6 m

Γρουνδ συρφαχε

Φουνδατιον σλαβ

Λοοσε σιλτ
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Statement for Linked Answer Questions 54 and 55:  

 

 

Ατ α στατιον, Στορm Ι οφ 5 ηουρ δυρατιον ωιτη ιντενσιτψ 2 χm/η ρεσυλτεδ ιν α ρυνοφφ οφ 4 χm ανδ Στορm ΙΙ οφ 8 

ηουρ δυρατιον ρεσυλτεδ ιν α ρυνοφφ οφ 8.4 χm.  Ασσυmε τηατ τηε 思−ινδεξ ισ τηε σαmε φορ βοτη τηε στορmσ.  

Θ.54 Τηε 思−ινδεξ (ιν χm/η) ισ: 

 

(Α)1.2 (Β)1.0 (Χ)1.6 (D)  1.4 

 

Θ.55 Τηε ιντενσιτψ οφ στορm ΙΙ (ιν χm/η) ισ: 

(Α)    2.00 (Β)1.75 (Χ)1.50 (D)2.25 

 

 

General Aptitude (GA) Questions 

 

Q. 56 – Q. 60 carry one mark each. 

Θ.56 Α νυmβερ ισ ασ mυχη γρεατερ τηαν 75 ασ ιτ ισ σmαλλερ τηαν 117. Τηε νυmβερ ισ: 

(Α) 91 (Β)  93 (Χ)  89 (D)  96 

 

Θ.57 Τηε προφεσσορ ορδερεδ το τηε στυδεντσ το γο ουτ οφ τηε χλασσ. 

        Ι                     ΙΙ                     ΙΙΙ                         Ις 

Wηιχη οφ τηε αβοϖε υνδερλινεδ παρτσ οφ τηε σεντενχε ισ γραmmατιχαλλψ ινχορρεχτ? 

(Α) Ι (Β) ΙΙ (Χ)  ΙΙΙ (D)  Ις 

 

Θ.58 Wηιχη οφ τηε φολλοωινγ οπτιονσ ισ τηε χλοσεστ ιν mεανινγ το τηε ωορδ γιϖεν βελοω: 

 

Πριmεϖαλ 

(Α) Μοδερν (Β) Ηιστοριχ 

(Χ) Πριmιτιϖε (D) Αντιθυε  

 

Θ.59 Φριενδσηιπ, νο mαττερ ηοω _________ιτ ισ, ηασ ιτσ λιmιτατιονσ. 

(Α) χορδιαλ  

 

(Β) ιντιmατε 

 

(Χ) σεχρετ 

 

(D) πλεασαντ  

 

Θ.60 Σελεχτ τηε παιρ τηατ βεστ εξπρεσσεσ α ρελατιονσηιπ σιmιλαρ το τηατ εξπρεσσεδ ιν τηε παιρ: 

Medicine: Health  

(Α) Σχιενχε: Εξπεριmεντ (Β) Wεαλτη: Πεαχε 

(Χ) Εδυχατιον: Κνοωλεδγε (D) Μονεψ: Ηαππινεσσ 
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Q. 61 to Q. 65 carry two marks each. 

Θ.61 Ξ ανδ Ψ αρε τωο ποσιτιϖε ρεαλ νυmβερσ συχη τηατ ʹܺ ൅ ܻ ൑ ͸ ανδ ܺ ൅ ʹܻ ൑ ͺ. Φορ ωηιχη οφ τηε 

φολλοωινγ ϖαλυεσ οφ ሺܺǡ ܻሻ τηε φυνχτιον ݂ሺܺǡ ܻሻ ൌ ͵ܺ ൅ ͸ܻ ωιλλ γιϖε mαξιmυm ϖαλυε? 

(Α) (4/3, 10/3) 

 

(Β) (8/3, 20/3) 

 

(Χ) (8/3, 10/3) 

 

(D) (4/3, 20/3) 

 

Θ.62 Ιφ ȁͶܺ െ ͹ȁ ൌ ͷ τηεν τηε ϖαλυεσ οφ ʹ ȁܺȁ െ ȁ െ ܺȁ ισ: 

(Α)  2, 1/3 (Β) 1/2, 3 (Χ)  3/2, 9 (D)  2/3, 9 

 

Θ.63 Φολλοωινγ ταβλε προϖιδεσ φιγυρεσ (ιν ρυπεεσ) ον αννυαλ εξπενδιτυρε οφ α φιρm φορ τωο ψεαρσ − 2010 

ανδ 2011.  

 

Category 2010 2011 

Raw material 5200 6240 

Power & fuel 7000 9450 

Salary & wages 9000 12600 

Plant & machinery 20000 25000 

Advertising 15000 19500 

Research & Development 22000 26400 

 

Ιν 2011, ωηιχη οφ τηε φολλοωινγ τωο χατεγοριεσ ηαϖε ρεγιστερεδ ινχρεασε βψ σαmε περχενταγε?   

(Α) Ραω mατεριαλ ανδ Σαλαρψ & ωαγεσ  

(Β)  Σαλαρψ & ωαγεσ ανδ Αδϖερτισινγ 

(Χ) Ποωερ & φυελ ανδ Αδϖερτισινγ 

(D) Ραω mατεριαλ ανδ Ρεσεαρχη & Dεϖελοπmεντ  

 

Θ.64 Α φιρm ισ σελλινγ ιτσ προδυχτ ατ Ρσ. 60 περ υνιτ. Τηε τοταλ χοστ οφ προδυχτιον ισ Ρσ. 100 ανδ φιρm ισ 

εαρνινγ τοταλ προφιτ οφ Ρσ. 500. Λατερ, τηε τοταλ χοστ ινχρεασεδ βψ 30%. Βψ ωηατ περχενταγε τηε πριχε 

σηουλδ βε ινχρεασεδ το mαινταινεδ τηε σαmε προφιτ λεϖελ.  

(Α) 5 (Β) 10 (Χ)  15 (D)  30 

 

Θ.65 Αβηισηεκ ισ ελδερ το Σαϖαρ. 

Σαϖαρ ισ ψουνγερ το Ανσηυλ. 

 

Wηιχη οφ τηε γιϖεν χονχλυσιονσ ισ λογιχαλλψ ϖαλιδ ανδ ισ ινφερρεδ φροm τηε αβοϖε 

στατεmεντσ?    

(Α) Αβηισηεκ ισ ελδερ το Ανσηυλ 

(Β) Ανσηυλ ισ ελδερ το Αβηισηεκ 

(Χ) Αβηισηεκ ανδ Ανσηυλ αρε οφ τηε σαmε αγε 

(D) Νο χονχλυσιον φολλοωσ 

 
 

END OF THE QUESTION PAPER 

 


